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Non-linear Congestion Control Based on RED Arithmetic
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Abstract Because RED adopts the way that drop packet ratio varies following average queue length, as a result, drop packet ratio is high when
the network congestion is not serious and drop packet ratio is low when the network congestion is serious, so the congestion ability is not effective.
This paper puts forward a non-linear congestion control arithmetic for this shortcoming, and the arithmetic can control average queue length
effectively by non-linear control to the drop packet function. The non-linear RED arithmetic has made a visible improvement on drop packet ratio,
time delay, througput, time delay jitter by NS2 simulation, and result proves the arithmetic is effective.
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